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— ' & def ultply (ab)y: | BISDIER GEME) (% Mreturn) TIEE
¢ = multiply(a, b) . _ o l'
| _return c |
multiply(a,b) = a* b # multiply(2,3) DRERETULN

print("c=",multiply(2,3))
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for JL—2J & range
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for i in range(4
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for 1 in range(4):

forward(100)
right(90)

for B8 in A7y U k:
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range ()
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range(start, stop|, step])

range(0,4,1)
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range(4)
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range(0,4,2)
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range(4,0,-1)
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if & else
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O number = 2*3*4
If number < 2:
print("Number is less than two.")
else:
print("Number is not less than two.")
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If, elif, else
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O number = 2*3*4
if number == Z:
print("2T3")
elif number < 2:
print("1&U/JhE")
else:
print("WIFN THHUEEA.")

WIFNTHHYEEA.

if =F01
NINEDE=(CET
elif Z&FT2:

TWHEDES(CEIT

else:

WIS N THEEUIGES(CELT

[EENEE T
HmET =13
== ZF UL
= F LU <720
> FDKRE0N
< K D/JvE0N
> = BAE
<= AR

J—)VEBF
AND, OR, NOT




BIRIEOE U

N TESE S EROHT b et
) def ¥actorl n

S| =x 5 ZaWe, ERIL—TICR5 # BEIRIEONE U IC & 2Rt

BIEEEZF > IcEHOERNBFIC if n ==
_ . o N return 1

HFRFOH UL —TTHERRTE D, At alse:

IHEEFEOCLEUDOAMNE LY return n *x factorl(n - 1)
Bl BES, TANT Y T def factor2(n):

:Hk:nX(n—l)X...X3X2X1 #for IL:J:DB“%@E‘I‘%I
B answer = 1

. for i in range(1l, n+1):
n! = { 1, ifn =20 answer = answer xi1

nx(n-—1), ifn>0 return answer



b =R 1 KT FE

, {1, ifn =0 Fo=0,F =1
e . ifn >0
nx(n—1), ifn> F=F_+F_, (n>2)
def factqu(n): - def Fibonaccil(n):
# BIRFUCHUICKSEESTRE # BIREOH UICE 27 1 RF Y FH
: L if n < 2:
1T n == return n
return 1 else:
else- return Fibonaccil(n-1) + Fibonaccil(n-2)

return n *x factorl(n - 1) def Fibonacci2(n):

# forXIC KB 717y FHI

def factor2(n): if n<o s
# for XlckDEEHAE return n
else:
answer = 1 a=1
for 1 in range(1l, n+1): $=1_ | o)
_ - or i1 in range(n-2):
answer = answer xi total = 2 + b
return answer b=a
a= total

return a 10
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from ColabTurtle.Turtle import *

initializeTurtle()
def koch(n, length):
if n <= 0:
forward(length)
else:
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
right(120)
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
if __name__ == ' main__ ':
speed(10)
bgcolor("white")
color("orange'")

penup ()
goto (250, 100) #E2 AZZE
pendown ()

right(90) # 1&EiRZ5[</CHICE

# vl Z4olErsE 5

for 1 in range(4):
koch(3, 300)
right(90)

penup ()

home ()
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from ColabTurtle.Turtle import *
initializeTurtle()

def Sierpinski_gasket(n, length):
if n <= 0:
# CZZEZLD

else:

Sierpinski_gasket(n-1, length/2) # —%Z=3
forward(length) # EffZ=#<
left(120) # 120EKIC

Sierpinski_gasket(n-1, length/2)
forward(length)
left(120)
Sierpinski_gasket(n-1
forward(length)
left(120)

length/2)

-

1f __name__ == ' main__ ':
speed(13)
bgcolor("DarkRed")
color("Gold")
penup ()

goto(200,400) #2 ALZiZE

pendown ()
right(90) # &Rz 5|<col

Sierpinski_gasket (5, 400

penup ()
home ()

BEDEEEAH/N
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from ColabTurtle.Turtle import
initializeTurtle()

def binary_tree(n, length, angle):
1f n > 0:
forward(length)
right(angle)
binary_tree(n-1, length x 0.7, angle)
left(angle x 2)
binary_tree(n-1, length *x 0.7, angle)
right(angle)
backward(length)

1T  name == "  maln
speed(13)
bgcolor("LawnGreen")

color("DarkGreen")

penup ()
goto(400,400) #E2 AZHH)
pendown ()

binary_tree(8, 100, 30)
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length = sqrt(2)
EZ% levy(length,n) Z&Z X3 n=10Ba

EBSAIEHIEICED

Step O levy(\/z,O) ni




length = sqrt(2)
% levy(length,n) =& X 3 n=10D%a

—DDERE%E1/\/245

dl = length/sqrt(2)

BRSO

=)
BIRIFUH L
_Jl o(10)

left(45);




def levy(length, n):

1f n == 0:
forward(length)

else:
dl = length/sqrt(2)
left(?7)
levy(dl, ??7)
right(?7)
levy(dl,??)
left(?7?)

levy(\/z,l) Q0fE
gy,

length = sqrt(2)
n=10DEH

dl = length/sqrt(2)

left(45);
forward(1);
right(90);

forward(1)
left(45);
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Dragon EIEE%%"(@EFE@@ >~ n=2,length=2 @ Dragon HH#R

25 v 0 : 25vT2 [

(n:()) / \ (n=2) +7 Y.
forward (2) ; Rl - \\\

B left (45) ;

AT I M left (45) ;
(n=1) forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
right (90) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
left (45) ;

right (90) ;

L — L — L — L — L — L — L — L — [

left (45) ;
forward (2/sqgrt (2.0) ) ;
right (90) ;

left (-45) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
right (-90) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
left (-45) ;

left (45) ;

forward (2/sgrt (2.0) ) ;
left (45) ;
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